Student Name:

Function Tables

Write the rule as an equation in terms of ‘x’ for each of the function table:

y= X +S

X
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Choose the correct table that matches the equation. Write the letter of the table on the line,

A

1 y = —2x
A B c
X1V L X |y
0|0 0l 2 oo
14-2 1| -2 112
2 |-4 2 | 2 > T a
-1 2 1] -2 ERE)
2 y=x-—5 B
A B c
X1V X1y X |y
11-2 1| -4 11 a
2 | -1 2 | 3 513
310 3 | -2 3 18
3 y=-3x+2 C
A X |y B X |y c X |y
-1(-5 115 1|5
012 0|2 0|2
14-1 1]-1 11-1
2|8 2 2




Match the correct equation with the table. Write the letter of the equation on the line.

@, 8

4 X |y A. y=-2x—-4
-11-6
0|-4 B. y=2x—-4
2|0 1
3| 2 C. y=5x+4

1
y y=5x—3

214

013 B ==-x+3

2|2

6|0 C y=—-x+3

Match each table with the graph that represents the ordered pairs in the table. Write the letter of the

O graph on the line.
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Write the function rule for the following tables.

O

10. [x [y 1. [ x [y 12, x |y
2 |9 0-2 1] -8
5 [12 2 |2 -2 [ 13
8 |15 3[4 12
10 [ 17 416 2 |7

13. x Ty 14. T 15. e
4 | 8 -1 6 111
519 2 | -12 2 |1
8 |12 4 | -24 3 (-3
10 | 14 6 | -36 4|5

gl xos o= b )=~

O

16.  Choose the correct description for the INPUT OUTPUT
input-output table to the right? 4 13
A add9 ® 19
.9 28
multiply by 3, then add 1 12 37

C. multiply by 3

D. multiply by 4, then subtract 1

17. Choose the correct description for the INPUT OUTPUT
input-output table to the right? 1 6
A.  add2 2 10
3 14
B. multiply by 4 4 13

C. add 5

Q @ multiply by 4, then add 2



Which equation correctly matches the graph below?
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